Strongman

MRES L Specifications

FmEmrK: BB
ZEFNX: TR IESANBUFL AR
RENTE: ER—KFL, —AHOFS—HBHA,

TEEA:
TIERE:
#EOEK:
CaESET P
AT
HLF: 2. 5, 10, 20um
JK: 10, 25um
£EM: 40um
TEENSRIEEZ : 20 bar
FERFBEZE: 6bar
HEEERERES
EMEBXIEZ: Sbar, B-B/ER
HEFEMZREKRES

i K 420bar

-40C ~ +120C

BSPP/M #247 , SAE62i%=
T RSB BB o

TENREREME
ERTH W, ATARH
HENRFE AR BEAREBIT]

FaiREFS
Hydraulic symbol

BRS
To system

o
O

Pressure filter

Type of construction : Inline filter
Mounting method : Vertical
Flow direction: Inlet to outlet: side connection,
at the same level, on opposite sides
Operating pressure: Max. 420 bar
Operating temperature : —40C to +120C
Connection ports: BSPP/Metric, Flanges SAE62
Seal material: NBR,Viton, EPDM on request
Filtration media:
glass fibre: 2, 5. 10, 20um
cellulose: 10um,25um
mesh:40 uy m.
Element collapse rating: 20 bar
Bypass setting:Opening pressure 6 bar
other settings on request.
Pressure indicator options: 5 bar
— visual - visual /electrical,
other settings on request.
Fluid compatibility:
Suitable for mineral oils, synthetic
For use with water, please contact our company.

H-048




Strongman PAF & B8 78 %

iTE4888 Ordering Code
iZifE88 The Completed Filter

F
it iE2E8 S Filter type ]

-
>
M
o
(e}
o
o
—
o

1 Z

|7
o

ifi & Flow rate (L/min)
0030, 0060,0110, 0160, 0240, 0330,0500,0660

B4 4} Element material
P: #84K Celullose (B x=2)
F: ZE4F Glass fiber( B x=200)
W: £E R Wire mesh

i IEAEEE Filtration rating(u m)
(F): 002, 005, 010, 020 (P): 010, 025 (W):040

ZE# 1 Seals
N: TE5#:8% NBR, V: &5 Viton

EOFR/R-T Port type/Size

/R~ Type/Size
hE B(BSPP &H#24! thread ) M(Z> #4247 Metric thread) F(3%Z Flange)
FlowRate o0 | B12 | B16 | Mis | M2z | M33 | F2s | Fa2 | Fao
0030 Y )
0060 ) .l
0110 ) <
0160 © () ©
0240 [ o o
0330 ) ()
0500
0660 ) [ )
B08=G1/2 , B12=G3/4 , B16=G1
M18=M18x1.5, M27=M27x2, M33=M33x2
F25=SAE62-1" , F32=SAE62-1 1/4” F40=SAE61-1 1/o”

EZE %88 Indicators
N:% No, V:E# visual 5bar, E:H/E = visual / electrical 5bar

H-049



PAF % B8 i 5 Strongman

JBi{XH The Replacement Element
PAE 0500 F 010 N
IEES Element type -

= Flow rate (L/min)
0030, 060,0110, 0160, 0240, 0330,0500,0660

i # Element material
P: #84K Celullose (B x=2),
F: 34T Glass fiber( B x=200),
W: £ 8 Wire mesh

18 #E B Filtration rating( u m)
(F): 002, 005, 010, 020 (P): 010, 025 (W):040

ZE## Seals
N: TE#8 NBR, V: &8 Viton

TR EEMEESE Filter Specification

puRA-r #O B e B=
Filter Ports Element Flow(L/min) Weight(Kg)

PAF0030 4247 Thread G/, M18x1.5 PAE0030 30 3.2

PAF0060 _ PAE0060 60 4.2
#2470 Thread G3/4 , M27x2

PAF0110 PAE0110 110 5.7

PAF0160 4847 Thread G1, M33x2, PAE0160 160 6.7

PAF0240 7%= Flange SAEG2 - 1 PAE0240 40 9.2

PAF0330 PAE0330 330 15.8
S = 1 n

PAF0500 /&= Flange SAE61 11 2 PAEO0500 500 20.3

PAF0660 SaiERE g PAE0660 660 24.8

FEPEML Pressure Drop Curves

IR A EME R T ENERN EEEREHER, BESELIRF[BNGEEEARKTF1.2bar,
WMRAERNTEN REEARRE32cSt, LREMFEITEINT:

Ap = (Ap32 x TIENFtLE) / 32cSt.

iR EREBIERE T TN RIS I E32cSt, #E0.87458,

The “Assembly Pressure Drop(A P) is obtained by adding the pressure drop values of the filer housing and
of the clean filter element and the recommended level of the initial pressure drop for high pressure filters is
Max. 1.2 bar.

If the medium used has a viscosity different from 32cSt, pressure drop over the filter can be estimated as
follows:

Ap = (Ap32 x viscosity of medium used) / 32cSt.

Filter pressure drop based on 32c¢St fluid viscosity and 0.87 density.

H-050



Strongman

PAFE REiB

8 AR

AP (bar)

AP (bar)

AP (bar)

AP (bar)

— . .
5e{kEPB§ Filter Housing Pressure Drop
PAF0030-0060-0110 PAF0160-0240 PAF0330-0500-0660
15 F 15
125F A 125F 125 F
i PAFooa(/ E =z E
1 F # 1 F g1 F
E AF0060-0110] = E PAF0160-0240 < o PAF0330-0500-0660
0.75F 4 g 075F / & 075F .
05 Z Vi 0.5 ; 0.5 4
025 025 025
0 25 50 75 100 125 150 0 50 100 150 200 250 300 0 125 250 375 500 625 750
it Flow (Umin) i Flow (L/min) i Flow (LUmin)
N N~ S
- “
4 R AR S P hA FE bR
PAE0030 PAE0060 PAE0110
ISE 7002 FO05 VoE Fo0Z 175 F002
15 F 15 E / Foog 15 E FOO!
125 - / 125 125 /’
1 S B1 E = 4 E
F g E / g -
075F 01 % 075F —F010 % 07s5F —
E =i 05 E A oo 05 3 /E(é%%:
—P01 .5 —P01 5 F —P
/] f//——POZS’ e 3 / 1 ] i : L ——T o
10 20 30 40 50 60 2% 15 30 45 60 75 90 % 9 25 50 75 100 125 150
it Flow (L/min) it Flow (L/min) & Flow (L/min)
PAE0160 PAE0240 PAE0330
1.75 175
F002, FOO5 E F002 F005 E F002) F005
/ 15 F A sl 15 E A
A 1.25 : / 1.25 3
25 4 E /
/ / 5 3 51 3 ) S
/ 0 N - ra s orsk 2
S 075F [—Foro] < O7SE Fo10-1
/ —ro20] 05 E 05 F —
| — P01 S E o2} 3 — e
— — 0.25F :"szs_ 025F _—POZS
%m................ 0 * rererers srurarerdl PN PRI 0 'é e mrwrararm srararary A
50 100 150 200 250 300 0 50 100 150 200 250 300 0 75 150 225 300 375 450
it Flow (LUmin) i Flow (L/min) it Flow (L/min)
PAE0500 PAE0660
G 175 E =
15 y 15 F
1.25 1.25 y
TE v B
F — % o75F
| _rFor0] < 3
05 F FO: 05 F F010~]
E L —] —P010-] 3 4 —F020-]
025 —— o 02sf— ] ;// P10}
° 125 250 ars 500 625 w0 % o 125 250 375 500 625 750
& Flow (L/min) it & Flow (L/min)

H-051




PAF % B8 i 5 Strongman

IR FER T Dimensions

PAF0030-0110

» — >
i
!
* [ I N 224415 TORQUE
i 22-27Nm
i
i
1A |
' |
\;Lr,<
S 2 075 AFS=24
T = HEx24A/F
1+ (@)
v =
(11]
2
o |
=3
LT, 4-M8x1.25 iF12 i o
K—MOUNTING HOLES,M8 x 1.25-6H x 12DEEP
80
&
w I
q‘ - o
’ S Type P H
[0}
© AL N
s |- PAF0030 Gl/p, M18x1.5 165
N\ PAF0060 198
G3/4, M27x2
PAF0110 293
R30

H-052



Strongman PAF & B8 78 %

v EFER ST Dimensions
PAF0160-0240
I
> ] r‘ o >
7. .
é = I < A o i T
‘ ‘ RIS TORQUE
; ; 34-40Nm
} |
W |
\\M<
o _1 ]
9! § %93 NHS=24
o et
37 4-M10x1 5511 E = HE x24.0A/F
4-MOUNTING HOLES,M10x1.5-6HX11DEEP E T
90 :
\ 28
! i @
L = | SAE 62-1" —6000psi(420bar)
l S 4-M12 x 1.75-6H x 195 DEEP
S |
AN (W1
- (WO — _— - —k — - — -+
= )
)
~
\ aV]
© . & .
63 15°
126
RS Type P H
PAF0160 G1, M33x2 236
PAF0240 SAE62 - 1” 345

H-053



=

PAF & B i % Strongman

MR FER T Dimensions
PAF0330-0660

SAE 62 - 1-1/4” —6000psi(420bar)

[e)]
<
> > L
4-M14 x 2-6H x 20DEEP
T | LA TORQUE
: 81-95Nm
|
|
|
g 2 !
13
i 1% i .
P B4R 7/S=36
ZHEFL 4-M10x15 5R11 § s HEX 36.00 A/F
4-MOUNTING HOLES,M10 x 1.5-6H x 11DEEP ] 8
\ 120
\%§ -
N ________’ ______ | RS Type H
1SS = > \\
! Qy ! @ PAF0330 324
PAF0500 443
=1 PAF0660 557
82 15°)
164

H-054



